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ACC. Coordinale Algebra Narne kOV

Review 3t'' - 313 You must show vour work credit.

ind the area or.r.Jk"{# your calculatort rrtrr" otn. Round yoirr anrr"". to th" r"rrest tenth.
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Round your ans\ryers to the nearest tenth.
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circle. Use your calculatorts value of fi. Round your answer to the nearest tenth.
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Find the surface area of each figure. Round your answers,to th" o"n.".@if necessary.
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Findthevolumeofeachfigure.Roundyouranswerstothe,.",.,@6ifnecessary.

12) A sphere with a radius of 10.8 mi. l3) A sphere with a diameter of 6 cm.
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Find the missing info in each problem. Round your answers to the nearestlfr?#
 Fir\d *he roCius.
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16) irind the radius of a sphere given the surface
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18) The area of circle U is 346.36 f t'.The area of
sector SLrN is 69.27 7t2.Find the indicated
measure.
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